@mber Analogies)

Directions

Each of these questions starts with two numbers that are linked together in some way.
Next there are two more numbers that are linked in exactly the same way. You have
to work out how the numbers are linked and then complete the third pair. Look at the

example below.

Example

[2—-3] [9—=10] [6—>7] A3 B4 c5 Dé ERY

What do you have to do that gets you from 2 to 3 and also from 9 to 10?

You have to add 1. So, 6 changes to 7. The correct answer is E, 7. This is how you would

show the answer:

II:AJ cBacCa :D.::E-E-al

This is just one example. In the test you might have o add ubtra
get the second half of each pair. Remember, you must. aiwag(s. :
for the first pair also works for: the second p&'lr

iR onctcs quasﬁo.ns_ Mark your answer choices by filling in the correct box o
the answer sheet. Remember, if you want to change your answer, rub out ur first che '
and mark your new letter choice, your first choice

Practice 1

(5—4] [8-7] [3=1] L < T B
Practice 2

[1—+2] [5-10] [4>2] L5 M7 NB P9 Q10




